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QUESTION PAPER FOR THE POST OF LAB Attendant
(PAY LEVEL 1)
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INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four choices for answer
(A, B, C, D) to each question. Choose the correct answer (one only) for each question and write the
answer in the space provided against each question.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or
questions ete. I so, get it replaced with another question paper, before question paper starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (- %) mark
will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking
Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.,

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.

There should not be any cutting or overwriting in the Answer.
Use of Unfair Means in Examination will lead to cancellation of candidature.
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Q. No.

Question

Answer

The value of -20.20 — 12.12 +22.22 is

2020 12,12+ 22.22 FTAA &;
A. 10.10
B. 1.10
C. -10.10
D. 1.1

c

£ X

For what value of x, the statement 56 X12™ s true?
X

X
X B oS ET 56 ¥ 17 " T A &2
A 22
B. 26
C. 24
D. 28

If a*h = 3a-2b, then the value of 3*¥4 + 3%5 is

TfE a*b = 3a-2b, AT 3%4 + 3%5 T A RT 87

A0
B. 1
C. -l
D. 2

Ifx +y =10 and (x-y)/y = 1/2, then find the value of 2x+3y

g x +y = 10 3 (x-y)y = 1/2, qF 2x+3y 1 R ST FFAY

A 24
B. 28
C. 32
D. 36

Average age of 6 people in a family is 62 years. However it is seen that 4 out of the 6
people also have an average age of 62 years. What will be the average age of remaining

two people of the family?

oo TR & 6 @ e SFET IR 62 a9 B1 TTAITE T8 @1 T € % 6 W W 4w by e

gt 62 9 &1 Uk 9 2 A BT A 3T A B?

A0

B. 31
C. 62
D. 124

The average weight of 10 persons is increased by 1.5 kg when one of them who weigh 65
kg is replaced by a new man. The weight of the new man is

10 AT o e ot 1.5 60T 91 ST £ 57 378 § 65 TRt o6 aTe T ATl &) U

U i & Oge 387 ST 8| 9T i T 9T &

A, 80 kg
B. 70kg
C. 90 kg

D. 60 kg
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The average of 7 consecutive numbers A, B, C, D, E, F, G is 57. What is the product of

numbers C and E?
7 BRI S A, B, C, D, E, F, G %1 3019 57 §1 §&AT C 3R E 61 THEA 947 87

A. 3360
B. 3260
C. 3348
D. 3248

What is the least possible value of * so that the number 457643*4 is divisible by 187
* 9T I8 =ITH HT T G011 ToTel T 457643 %4, 18 6 T €1 +e?

A3
B. 4
C. 3
D. 6

Which pair of numbers are twin prime numbers?
ATl ] I WY ST g T HEATY 67

A 3,7

B. 43,47

C. 59,61
D. 37, 41

10

If the selling price of 60 articles is equal to the cost price of 75 articles, what is the profit
or loss percentage?

Ife; 60 TS 7 TSRt Ay 75 gt & TTA HeT o SRR B, 1 @1 I §TH &1 Wi a1 82

A. 20%
B. 25%
C. 30%
D. 35%

11

A man sells 50 oranges for Rs 60 and incurs a loss of 25%. At what pi‘ice should he sell
30 oranges to the next customer to make a 15% profit?

T 3TEHT 50 Tk 60 TTF H SaT & TR I 25 UAST & JHaM elar 81 15 Wasrd o Bar

& o7 I8 31T 7T T 30 Tk Tooe B o S =fewy

A. 50Rs

B. 50.5Rs
C. 552 Rs
D. 574 Rs

12

A man purchased a bicycle and a helmet for Rs. 2000. By selling the bicycle at a 15% loss
and the helmet at a 25% profit, he earned an overall profit of 5% on the entire transaction.

Find the cost price of the bicycle.

T e T 2000 B 0 qrEfihe o UH BeHe WET| WS B 15% T W AR e
BT 25% TV T TEH, I G wlH-0F T 5% BT ol @ SHHTAT| AT lehed Bl 6 T AT
BT

500 Rs

1000 Rs
1500 Rs
2000 Rs

T oW
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13 Raju invested Rs. 77500 in Axis bank. In two years how much compound interest will he [ D
get, if the first year rate of interest was 10% and second year interest rate is 2% more than
first year?

T A Tl de H 77500 BUC e fe) < auf # 37 fbar Swgfs s e, afe v
TS ST 2T 10% ff 311 e o = X vEe a9 ¥ 2% AfHeE §2

A. 85250 Rs

B. 95480 Rs

C. 180730 Rs

D. 17980 Rs

14 What will be the interest earned on a sum of Rs. 6000 kept for 9 months at a 20% interest | A
rate compounded quarterly?

6000 BT T T BT 20% FerATel oror 2 U2 © AE & foe T R AfSit st (gt £
A. Rs. 945
B. Rs. 900
C. Rs. 960
D. Rs. 915

15 Rs. 9000 is divided among P, Q, R, and § in such a way that the shares of Pand Q, Q and | B
R, and R and S are in the ratios of 3:4, 4:5, and 5:6 respectively. The share of P is:
9000 B9 FT P, Q, R 3R S ¥ i 50 weR gl T £ 1o P 3t Q, Q ¥R, FOTR AN S &
TEE0 THIT: 3:4, 4:5 3R 5:6 % U # 2| P I BwAT 2

A. Rs. 1250
B. Rs. 1500
C. Rs. 2000
D. Rs. 2250
16 If a:b=5:2, what is the value of (9a+2b):(3a+3b)? B
i a:b=5:2, AT (9a+2b):(3a+3b) BT HI FT &2
A. 573
B. 73
C. 3/5
D. 377

17 Rohan wishes to purchase three types of books, X, Y, and Z, with a total budget of Rs. | B
350. The unit prices of the books X, Y, and Z are Rs. 30, Rs. 40, and Rs. 50 respectively.

[f the person purchases 5 books of type Z, what is the ratio of the number of books
purchased of type X to that of type Y?

5 H17 R BT QEadh, X, Y 311 Z TEAT 91gar 7, ForiesT e Soie 350 FH Rl X, Y AR Z
! T EHIE BIAT FAI: 30 BUL, 40 BUF AW 50 TU §| AR ek Z UBR B 5 Eh
Tl €, d X TR o i) TE e bl e 3R Y VR B TR T8 T ol BEAT B
ST T B2

A 12

B.2:1

C.3:2 '

D.2:3 g
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18

Choose the correct alternative that will continue the same pattern and replace the question

mark in the given series
13, 22,40, 67, 103, 7.
TE feed i St T e Bl ST T 3R 4 e e § e o i uideniud e

13,22, 40, 67, 103, 2.

A, 144
B. 146
C. 148
D. 150

19

Choose the correct alternative that will continue the same pattern and replace the question

mark in the given series.
2,1,4,3,6,5, 872

T T o o T e Ty T 3R S T s A v o o e
2,1,4,3,6,5,8,7

Y
10
7
8

Cowp

20

Choose the correct alternative that will continue the same pattern and replace the question

mark in the given series.
3, 8,27, 112, 565, 7

T e T ot AT e o ST T 3 T st e i T s R

3,8,27, 112,565, 7
A, 1256
B. 1748
C. 2576
D. 3396

21

Choose the correct alternative that will continue the same pattern and replace the question
mark in the given series.

19,29, 41, 55,71, 89,7

He! Tt I 51T A O &1 SR T 3R &1 TS S § v o B ufaeitd o

19, 29, 41, 55, 71, 89, ?
A. 107
B. 109
C. 111
D. 113

22

Find the missing number in the given series

&I TE ST ¥ [ T T BT

4, 18, 48, 100, 2, 294, 448
180
190
200

SRS

210
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23 Find the missing number in the given series
TS ST H | ST 9 #Ifey
C. 1
D. 13
24 Find the missing number in the given series C
I TS S A qu TAT H1 HiiWg
20 | 42 | 26
Hy i 4
5 ? 4
40 od B
A8
B. 10
C. 12
D. 14 .
25 Find the missing number in the given series B
& TS S H e AT A FIRY
25200 5
3600 b
? 1
120 30
A. 300
B. 600
C. 1200
D. 1500
26 Choose the correct order from the given alternative : A
&g g et / § T8 B g: :
a beda_bedab cdabe d
A. abed
B. beda
C. cdab
D. dabc
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127

Choose the correct order from the given alternative

e feent § & 721 %9 -

d_baa_cbbadc b ddc a
A. abced
B. bedad
C. cdeab
D. dabcb

28

Which figure must continue series of figure?
I T TR Bl AP D YGAT IR T TR

GQuestion Figure

[ A U i A A O

D.

29

Which figure must continue series of figure?

I T AR BT ATt BT ST A WA =EE?

R

LR LT

[ TT T

|

L 1 i)

!

e

I ] i

D.

30

Antonyms of the word “Abhorrence” is
“Abhorrence” 9768 & TIaily :

Repellence
Repugnance
Animosity
Veneration

Uowe
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31

Antonyms of the word “Cognizant” is
“Cognizant” 7 & Tee ;

A. Sentient

B. Perceptive

C. Oblivious

D. Savvy

32

Synonyms of the word “Perfidious” is:
“Perfidious” TTe5 [ YHI a1

A. Traitorous

B. Staunch

C. Benign
D. Faithful

33

Find out the wrongly spelled word.
A. Querulous
B. Quarantine

C. Quandary
D. Quintesential

34

Find out the correctly spelled word.
TE AT T 918 %2 |

A. Verisimilitude

B. Verisimlitude

C. Verismilitude

D. Verisimiltude

35

The sentence below is divided into four parts. Find the part that contains an error.
) fea T g = A § e £) 98 v @ SR IR 2
The children/ giggies joyfully/ as they chased each other/ around the playground.
A. The children
B. giggles joyfully
C. as they chased each other
D. around the playground

36

Choose the pair of words that will make the sentence grammatically correct and
meaningful. .

IEE] BT TE Y A T AT B ATRLOTE B HET SR Sfefyut s

The  artist managed to capture the ____ of the moment in her painting.

novice, complexity

accomplished, essence

amateur, simplicity

aspiring, chaos

Sows

37

Choose the pair of words that will make the sentence grammatically correct and

meaningful.

TEET T TE T T ST AT Bl TR0 B9 § Te T 3R avefuuf garerm

The __ student impressed everyone with her __ project on renewable energy.
A. diligent, superficial
B. indifferent, detailed
C. hardworking, innovative
D. careless, thorough
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38

Fill in the blank with the most appropriate option.
TeRT I # Hee Iugerd famey Wi
She promised that she the book by the next day.
A, will return
B. returns
C. would return
D. is returning

39

The sentence below is divided into four parts. Find the part that contains an error.
A feam T amerRy T W fnrforg €1 ge A g2 e g 8
The research team / have discovered / a new method / to increase crop yield.

A. The research team

B. have discovered

C. anew method
D. fo increase crop-yield

40

Select the most appropriate option to substitute the underlined segment in the given
sentence.

e T arera  Yeifed ws Aot & % T wed Sue ey o 9g7 w1

Since the Chief Minister did not “approve with” their demands, the employees decided
to intensify their strike,

A. approve of

B. approve in

C. approve on

D. approve at

41

Which of the following were NOT the proposed conditions of Gandhi Irwin Pact?
A. To withdraw all ordinances issued by the Colonial government of India imposing
curbs on the activities of the Indian National Congress. '
B. To release all the political prisoners in the jails in India.
C. To withdraw all prosecutions relating to several types of pohtlcal offenses except

those involving violence
D. To permit the tax-free manufacture of salt.

TrefeieEe & & o o o et e FHelia B vearad o g off

A, IR TET iU 1 Tiafafe W siesr @ ave IRd 9 suiaftie ween grr i
At Srearree i AT

B. WA & <Ieil & sfe wt Terifas el & fer &

C. 51 € ¢ STl T S15e %2 UBR F UIGE TR T Heiferd wft qeent 1wy
Gl

D. THE % B{-Herd (ATOT BT STH AT
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42

Who is known as the "lron Lady" for her role in organizing the Salt Satyagraha during the
Civil Disobedience Movement in Madras?

A. Annie Besant

B. Sarojini Naidu

C. Durgabai Deshmukh

D. Aruna Asaf Ali
72T B G o S 5 AT AU S ¥ A AT e % T e

wfeetr & B H 8 STHT ST 87
A THT 5He

B. TS AT9g

C. gnfang <emE

D). 316U 3T ST

43

Which image is on the back of the 200 Rs note released after demonetization in india?

A, Ellora Caves
B. Red Fort

C. Sanchi Stupa
D. Rani Ki Vav

WRA B et & 912 ST 75 T 200 T % A1 & U i i uid £
A. THART BT T8 B, &1 fohedT C. il &4 D. T A

44

What is the ancient name of the Ravi River?
A, Asikini
B. Parushni
C. Bipasa
D. Vitasta

Y TET BT WA AT T 87
A, ATETEAT

B. geuft

C. fearer

D, Tefaedr

45

Which of the following information is NOT collected during census in India?

A. Marital status

B. Educational qualification
C. Salary per month

D. Occupation

A B SHTURT 3 2N (i@ & § w1 oY STBRT T T8 1 STt 82
A e fefd

B. Sifefe At

C. T vre &

D. THTET
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46

Who has become the first Indian woman to be appointed a jury member at the 33rd
Summer Olympics to be held in Paris, France, from 26 July -11 August 2024.

A. Rishi Narain

B. PV Sindhu

C. Bilquis Mir

D. Deepti Sharma

26 JTE H 11 3R 2024 T YR, 167/ § i g aret 338 dioaeprel i owifte St
e Fge B ATel! T WA AR B §A 1 Ee

A, SR TR

B. UieT fify

C. feeTira 7R

D, Sifeq emmf

47

In the Chess World Cup 2023, which Indian player played in the final?
A. Gukesh D
B. Rameshbabu Praggnanandhaa
C. Vidit Gujarati
D. Pantala Harikrishna

ST forg 9 2023 F, B AT IRAT TSt BreTe § G
A. THTD
B. TAYEITE SeTraer
C. Tafzg Rt
D. Y gfigmr

48

Kiran Baliyan won which medal in which game, at the Asian Games 20237
A. Gold, Weight Lifting
B. Bronze, weight lifting
C. Silver, Shot put
D. Bronze, Shot put

TetuT TfeAdT A TiERTE €5 2023 § 50 T o & 97 9 Sian?
A. WU, TR AT
B. &, AR
C. Td, el heh
D. L, Tl %

49

Which of the following weightlifters was part of the Indian Olympics 2020 squad?
A. Saikhom Mirabai Chanu
B. Gyaneshwari Yaday
C. Valluri Ajaya Babu
D. Ditimoni Sonowal

ETETER § & B 7 ARSI STwfte 2020 2 1 fewm o
A, GG HRETE =7,
B. Frl aeE
C. Hoclil 3 97
D. RfawH gHmare
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50

Who was the first Prime Minister to receive the Bharat Raina?

A. Jawaharfal Nehru
B. Lal Bahadur Shastri
C. Indira Gandhi

D. Atal Bihari Vajpayee

WA o7 O ST TEe! W B &7
A. STETEXETS 8%
B. WA SRt Imet
C. Bt
D. 3w fergrl ot
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